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 TrigonometryExercise5 Answers for No.9124
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 TrigonometryExercise5 Answers for No.9252
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







Cos









arcSin 

2

5

23

5
.3


















Sin









arcCos

3

8

61

8

.4














Cot







arcSin
1

3
2 2 .5









( )Cos ( )arcTan 1

2

2
.6
















Tan







arcCos

-3

8


55

3

.7
















Tan







arcSin

-2

7

2 5

15
.8
















Csc







arcCos
4

9
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.9
















Sin







arcTan
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3

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





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







Sin 







arcCos
1

2







arcSin
4

7


3 33

14

2

7
.2
















Cos 







arcCos
2

7







arcSin

-1

3


4 2
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


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

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arcCos
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
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
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cos 2
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

arcCos
5

6
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












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
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
Sin 
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2
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4
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
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




Sec 



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

arcCos



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

Sin 
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

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

arcSin
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13 
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


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
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
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
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2

2


4

.2


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
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
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
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


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arcCos

3
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
6
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







arcSin 

2

2


4

.6 ( )( )arcSin 3 undefined
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

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





Sin







arcSin
1

2

1

2
.2


















Cos









arcSin

2

2

2

2
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

















Sin









arcCos 

2

2

2

2

.4














Tan







arcCos
1

2
3 .5















arcTan







Tan


6


6

.6














arcCos







Sin 


6

2 
3
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













arcSin







Sin 

5 
6



6

.8














arcCos







Cos 


4


4

.9














arcTan







Tan

5 
6



6
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
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














Csc









arcSin 

3

2

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3
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
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










Cot







arcCos







Sin
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3
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












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


ArcSin









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


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


ArcSin

3

2


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
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












Tan







arcSin
1

2

3

3
.2


















Csc









arcCos 

2

3

3 7

7
.3


















Cos









arcSin

5

6

31

6
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
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












Sec







arcTan
4
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




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

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

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

arcCos
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5
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










Sin







arcTan
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5

6 61
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









Cot







arcSin
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2
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
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
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





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


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
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

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
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

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

Sin 







arcCos
5

9


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



arcSin

-4

5


2 14

15

4

9
.2

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 TrigonometryExercise5 Answers for No.9397
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 TrigonometryExercise5 Answers for No.9449
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 TrigonometryExercise5 Answers for No.9562
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



Sin

17 
6


6

.8














arcCos







Cos

8 
3

2 
3

.9














arcTan







Tan

7 
6


6

.10


















Csc









arcCos 

2

2
2 .11

















Csc







arcCos







Sin 

7 
6

2 3

3
.12


















ArcCos









Sin









ArcCos

2

2


4
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.1
















Cos







arcSin

-3

8

55

8
.2


















Tan









arcCos 

7

11


114 7

7
.3
















Cos







arcTan

-2

3

3 13

13

.4








( )Sin ( )arcTan 2

2 5

5
.5
















Tan







arcSin
5

9

5 14

28
.6


















Csc









arcSin

7

9

9 7

7

.7














Sec







arcCos

-1

2
-2 .8

















Sin







arcCos
2

7

3 5

7
.9


















Cot









arcTan

3

7

7 3

3
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.1
















Sin 







arcCos
1

2







arcSin

-4

5


3 3

10

2

5
.2
















Cos 







arcCos
4

5







arcSin
2

3


4 5

15

2

5

.3
















Sin 2







arcSin
1

4

15

8
.4














cos 2







arcSin
1

2

1

2

.5














arcTan ( )Cos 6 







Sin

19 
2

0 .6
















Sec 







arcCos







Sin 

13 
6







arcSin







Cos

5 
3


2 3

3
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 TrigonometryExercise5 Answers for No.9721
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.1


















arcCos 

3

2

5 
6

.2






( )arcTan 1


4

.3






( )arcSin -1 


2

.4 ( )( )arcCos 3 undefined .5 ( )( )arcTan 0 0 .6 ( )( )arcCos 1 0

.7














arcSin

-1

2


6

.8


















arcCos

3

2


6

.9


















arcSin

2

2


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

















cos









arcCos 

2

2


2

2
.2


















Tan









arcCos 

3

2


3

3
.3


















Sin









arcTan 

3

3

-1

2

.4


















Cos









arcSin

2

2

2

2
.5














arcTan







Tan 


4



4

.6














arcSin







Cos


3


6

.7














arcSin







Sin

5 
6


6

.8














arcCos







Cos

4 
3

2 
3

.9














arcTan







Tan 

17 
6


6

.10 ( )( )Sec ( )arcTan  3 2 .11
















Sec







arcSin







Cos

11 
3

2 3

3
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












ArcSin









Cos









ArcSin

3

2


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.1


















Tan









arcSin 

7

8


7 57

57
.2


















Sin









arcCos

5

6

31

6
.3
















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
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
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
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
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
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
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
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
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 TrigonometryExercise5 Answers for No.9789

, ,  Ans1



























.1







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Sin









arcSin 

2

2


2

2
.2


















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
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
Tan

11 
6



6

.10


















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
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
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 TrigonometryExercise5 Answers for No.9795
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 TrigonometryExercise5 Answers for No.9839
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Sin









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
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
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
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
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Tan







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
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
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
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
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 TrigonometryExercise5 Answers for No.9843

, ,  Ans1



























.1






( )arcSin -1 


2

.2 ( )( )arcCos 1 0 .3







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 TrigonometryExercise5 Answers for No.9854

, ,  Ans1



























.1






( )arcCos 0


2

.2 ( )( )arcCos -3 undefined .3














arcCos
1

2


3

.4


















arcSin 

2

2


4

.5






( )arcTan 1


4

.6














arcCos

-1

2

2 
3

.7






( )arcTan  3 


3

.8






( )arcSin 1


2

.9


















arcSin

3

2


3

   





























M
a
t
h
@
M
U
T

, ,  Ans2

































.1


















Sin









arcSin

3

2

3

2
.2








( )Cos ( )arcTan 1

2

2
.3


















Sin









arcCos 

2

2

2

2

.4


















Tan









arcCos

3

2

3

3
.5














arcSin







Sin 


3



3

.6














arcSin







Cos

5 
6



3

.7














arcSin







Sin

13 
6


6

.8














arcCos







Cos

8 
3

2 
3

.9














arcTan







Tan

5 
6



6

.10


















Cot









arcTan 

3

3
 3 .11

















Tan







arcSin







Cos 


3

3

3
.12


















ArcSin









Cos









ArcSin

2

2


4

   









































:)

:(
























































M
a
t
h
@
M
U
T
:)

:(

, ,  Ans3



























.1
















Sin







arcTan

-7

2

7 53

53
.2
















Cos







arcSin

-3

8

55

8
.3








( )Cos ( )arcTan 4

17

17

.4








( )Cot ( )arcTan  2 

2

2
.5














Csc







arcCos

-4

5

5

3
.6
















Tan







arcCos
5

9

2 14

5

.7


















Sec









arcSin

5

8

8 59

59
.8














Tan







arcSin
3

5

3

4
.9


















Sin









arcCos

2

7

47
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


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
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.1
















Sin 







arcCos
4

7







arcSin

-1

2


3 33

14

2

7
.2
















Cos 







arcCos
4

7







arcSin
2

7


12 5

49

2 33

49

.3
















Sin 2







arcSin
1

2

3

2
.4














cos 2







arcCos
1

2

-1

2

.5














arcTan 







Cos

9 
2







Sin 

11 
2


4

.6














Sec 







arcCos







Sin 

5 
6







arcSin







Cos 

5 
6

2
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 TrigonometryExercise5 Answers for No.9862

, ,  Ans1




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


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
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












.1


















arcSin 

3

2


3

.2


















arcCos 

2

2

3 
4

.3


















arcCos

2

2


4

.4 ( )( )arcCos 1 0 .5














arcSin
1

2


6

.6






( )arcTan 3


3

.7 ( )( )arcCos 5 undefined .8 ( )( )arcSin 0 0 .9


















arcTan 

3

3


6
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.1














Sin







arcSin

-1

2

-1

2
.2


















Tan









arcCos 

2

2
-1 .3



















Cos









arcTan 

3

3

3

2

.4


















Sin









arcCos

2

2

2

2
.5














arcSin







Sin 


6



6

.6














arcSin







Cos


6


3

.7














arcSin







Sin 

5 
6



6

.8














arcCos







Cos

4 
3

2 
3

.9














arcTan







Tan

13 
6


6

.10
















Cot







arcCos

-1

2


3

3
.11














Csc







arcSin







Cos

11 
3

2 .12


















ArcSin









Cos









ArcSin

2

2


4
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


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


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
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.1
















Sin







arcTan
3

2

3 13

13
.2
















Sec







arcSin
2

3

3 5

5
.3














Tan







arcSin

-4

5

-4

3

.4














Sin







arcCos
4

5

3

5
.5
















Csc







arcTan

-7

6


85

7
.6


















Tan









arcCos

2

5

23 2

2

.7








( )Cos ( )arcTan  5

6

6
.8


















Cos









arcSin

5

8

59

8
.9
















Cot







arcCos

-1

5


6

12
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.1
















Sin 







arcCos
3

4







arcSin
2

3


7 5

12

1

2
.2
















Cos 







arcCos
1

2







arcSin

-5

8


39

16

5 3

16

.3
















Sin 2







arcCos
3

8

3 55

32
.4














cos 2







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 TrigonometryExercise5 Answers for No.10278
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 TrigonometryExercise5 Answers for No.10361
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


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




.1


















Tan









arcTan

3

3

3

3
.2
















Cos







arcSin

-1

2

3

2
.3


















Tan









arcSin 

2

2
-1

.4








( )Sin ( )arcTan 1

2

2
.5














arcCos







Cos

3 
4

3 
4

.6














arcSin







Cos


3


6

.7














arcSin







Sin 

17 
6



6

.8














arcCos







Cos 

3 
4

3 
4

.9














arcTan







Tan 

11 
6


6

.10
















Csc







arcCos
1

2

2 3

3
.11














Csc







arcSin







Cos 


4

2 .12


















ArcCos









Sin









ArcCos

3

2


3

   











































:)

:(




























































M
a
t
h
@
M
U
T
:)

:(

, ,  Ans3

























.1


















Tan









arcSin 

5

7


5 11

22
.2
















Sin







arcCos
5

8

39

8
.3
















Cot







arcSin
5

6

11

5

.4














Cos







arcSin

-4

5

3

5
.5 ( )( )Sec ( )arcTan 2 3 .6









( )Cos ( )arcTan -5

26

26

.7
















Tan







arcCos

-5

7

2 6

5
.8
















Sin







arcTan
5

7

5 74

74
.9


















Csc









arcCos 

7

12

12 137

137
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.1
















Sin 







arcCos
1

2







arcSin
5

8


3 39

16

5

16
.2
















Cos 







arcCos
3

8







arcSin

-1

4


3 15

32

55

32

.3
















Sin 2







arcCos
1

2

3

2
.4














cos 2







arcSin
1

2

1

2

.5














arcTan ( )Cos 







Sin 

15 
2

0 .6














Cot 







arcCos







Sin

13 
6







arcSin







Cos

10 
3

3
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 TrigonometryExercise5 Answers for No.10532
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.1






( )arcTan  3 


3

.2


















arcTan

3

3


6

.3


















arcSin 

2

2


4

.4


















arcCos

2

2


4

.5 ( )( )arcCos -5 undefined .6


















arcSin

3

2


3

.7






( )arcSin 1


2

.8 ( )( )arcCos -1  .9


















arcCos 

3

2

5 
6
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

















cos









arcCos 

3

2


3

2
.2


















Tan









arcSin

2

2
1 .3



















Cos









arcSin 

2

2

2

2

.4
















Sin







arcCos

-1

2

3

2
.5














arcSin







Sin


4


4

.6














arcCos







Sin


6


3

.7














arcSin







Sin 

5 
6



6

.8














arcCos







Cos

11 
3


3

.9














arcTan







Tan

13 
6


6

.10 ( )( )Cot ( )arcTan 1 1 .11














Cot



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


Tan
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





arcCos 
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















Sin







arcTan
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


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


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

Sec
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
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
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
Cot
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
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
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
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
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




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
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

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

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





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










Tan







arcSin
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7

4 33
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
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
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

Sin 







arcCos
3

8







arcSin
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
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





arcCos







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
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 TrigonometryExercise5 Answers for No.10688

, ,  Ans1



























.1 ( )( )arcCos  3 undefined .2
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
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
arcCos
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2 
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.3 ( )( )arcCos -1 

.4









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
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








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cos









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
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Cos


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


arcSin 

5

9
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
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


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




Sec
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
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


arcTan 

3

4
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
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

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

Sin


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

arcTan
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
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

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
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Cos


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

arcTan
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
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
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
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


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


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
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




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5

8
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
arcSin







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 TrigonometryExercise5 Answers for No.10868

, ,  Ans1

























.1 ( )( )arcSin 7 undefined .2 ( )( )arcCos 1 0 .3







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
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







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
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
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
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
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
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arcCos

-5

8

5 39

39
.8
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 TrigonometryExercise5 Answers for No.12172
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
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

Tan
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




arcCos
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
2 6

5
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
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
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



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

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
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

arcTan
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
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
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
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

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
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 TrigonometryExercise5 Answers for No.12180
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 TrigonometryExercise5 Answers for No.12256
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 TrigonometryExercise5 Answers for No.12278
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Cos









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Sec







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 TrigonometryExercise5 Answers for No.12586
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








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Sin









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
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
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
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
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
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
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
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 TrigonometryExercise5 Answers for No.12677
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
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
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
arcCos
1

6

35

6
.5
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
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

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


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
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1
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

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

arcSin
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3
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3 5

6

1
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
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


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

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

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
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
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
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
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 TrigonometryExercise5 Answers for No.13490
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
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
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


arcSin 
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6

6 5
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








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
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
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
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



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
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
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

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

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5

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







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


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







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
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
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 TrigonometryExercise5 Answers for No.13500
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.3 ( )( )arcCos 1 0

.4
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
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
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
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5
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








Sin



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

arcTan
7

2
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
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


Cot









arcCos

5

9

5 19
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
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












Csc









arcTan 

5

4


5 21

5
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










Cos
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

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
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




arcCos
3

8
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

arcSin
2

7


3 55 5
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28
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












Cos 







arcCos
3

7







arcSin
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4


3 7

28
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
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
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
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

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
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

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
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
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

Sin 
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
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
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 TrigonometryExercise5 Answers for No.13637
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
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
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

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

( )arcTan 3


3

.5






( )arcSin -1 


2

.6














arcCos
1

2


3
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

















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3

2


3
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













arcSin

-1

2


6

.9






( )arcCos 0


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









Sin







arcSin
1

2

1

2
.2


















Cos









arcSin 

2

2

2

2
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

















Tan









arcCos 

2

2
-1

.4








( )Sin ( )arcTan 3

3

2
.5














arcCos







Cos
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6

5 
6

.6














arcCos







Sin


6


3

.7














arcSin







Sin 

5 
6



6

.8














arcCos







Cos 


3


3

.9














arcTan







Tan 

17 
6


6

.10 ( )( )Csc ( )arcTan -1  2 .11


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









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

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
arcSin
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
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-2 .12










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

ArcCos



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

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

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
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
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













Sin







arcCos
4

5

3

5
.2


















Sec









arcSin

5

8

8 59
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.3
















Sin







arcTan

-2

7

2 53

53

.4


















Csc









arcCos 

7

11

11 114
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.5

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












Cos




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


arcTan 

3

4

4 19
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
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
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
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arcTan
7

3

3

7
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





Cos







arcSin
5

6

11

6
.8
















Tan







arcCos
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4


7

3
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











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

Tan



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

arcSin
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7

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





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



Sin 







arcCos
1

2







arcSin

-1

5


6 3

5

1

10
.2
















Cos 







arcCos
4

5



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

arcSin
2

3


4 5

15

2

5

.3
















Sin 2







arcCos
5

6

5 11

18
.4














cos 2







arcSin
2

3

1

9

.5






( )arcTan ( )Cos 5  ( )Sin 3  


4

.6







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Cot







arcTan
5

3

3

5
.9


















Csc









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 TrigonometryExercise5 Answers for No.645104
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















Tan









arcCos

5

6

31 5

5
.8


















Tan









arcSin 

2

5


23 2

23
.9














Cot







arcSin

-3

5

-4

3
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





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



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




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
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
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

.1
















Sin 







arcCos
2

3







arcSin
1

4


5 15

12

1

6
.2
















Cos 







arcCos
1

3







arcSin

-1

2

3

6

2

3

.3
















Sin 2







arcSin
1

2

3

2
.4














cos 2







arcCos
1

5

-23

25

.5














arcTan 







Cos

9 
2







Sin 

11 
2


4

.6














Cot 







arcCos







Sin 

5 
6







arcSin







Cos

5 
3

 3
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




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.1 ( )( )arcTan 0 0 .2


















arcCos

3

2


6

.3














arcSin
1

2


6

.4


















arcCos 

3

2

5 
6

.5 ( )( )arcSin 3 undefined .6 ( )( )arcCos 1 0

.7






( )arcTan 3


3

.8














arcSin

-1

2


6

.9






( )arcSin -1 


2
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.1


















cos









arcCos 

2

2


2

2
.2






( )Cos ( )arcTan 3
1

2
.3














Tan







arcCos

-1

2
 3

.4








( )Sin ( )arcTan  3 

3

2
.5














arcCos







Cos


6


6

.6














arcCos







Sin


3


6

.7














arcSin







Sin 

11 
6


6

.8














arcCos







Cos 

3 
4

3 
4

.9














arcTan







Tan 

13 
6



6

.10 ( )( )Csc ( )arcTan -1  2 .11














Tan







arcCos







Sin 

17 
6

 3 .12


















ArcCos









Sin









ArcCos

2

2


4
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
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


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.1














Cot







arcSin
1

4
15 .2

















Sin







arcTan
1

4

17

17
.3
















Sec







arcTan

-3

2

13

2

.4


















Tan









arcSin 

5

7


5 11

22
.5


















Sin









arcCos

5

8

59

8
.6


















Cos









arcTan 

6

7

7 55

55

.7














Tan







arcCos
1

5
2 6 .8

















Csc







arcCos

-4

9

9 65

65
.9
















Cos







arcSin

-2

3

5

3
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
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


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
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
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.1














Sin 







arcCos
1

2







arcSin
1

2
1 .2

















Cos 







arcCos
4

5







arcSin

-1

4


15

5

3

20

.3
















Sin 2







arcSin
2

3

4 5

9
.4














cos 2







arcSin
1

2

1

2

.5














arcTan 







Cos

7 
2







Sin 

9 
2



4

.6
















Sec 







arcCos







Sin

11 
6







arcSin







Cos

7 
3


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 TrigonometryExercise5 Answers for No.645107
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 TrigonometryExercise5 Answers for No.645108
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
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
arcSin

-1

2


3 3

14

10

7

.3
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
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
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 TrigonometryExercise5 Answers for No.645110
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
Cos


3


3

.6







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
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
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
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
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 TrigonometryExercise5 Answers for No.645112
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
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
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
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
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arcCos




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
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
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
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
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
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
arcSin
1

4

15

15
.5
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
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
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 TrigonometryExercise5 Answers for No.645113

, ,  Ans1

























.1


















arcSin 

3

2


3

.2


















arcSin

2

2


4

.3














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
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2
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3 
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.4 ( )( )arcSin 0 0 .5 ( )( )arcTan 0 0 .6 ( )( )arcSin 3 undefined
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 TrigonometryExercise5 Answers for No.645114
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4

7

33

4

.7














Csc







arcSin
1

3
3 .8



















Tan









arcSin

2

5

23 2

23
.9
















Sin







arcTan

-1

6

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.1
















Sin 







arcCos
2

3







arcSin
1

4


5 15

12

1

6
.2
















Cos 







arcCos
1

2







arcSin

-1

2

3

2

.3
















Sin 2







arcCos
4

9
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.4














cos 2







arcCos
3

4

1

8

.5














arcTan 







Cos

9 
2







Sin

7 
2



4

.6
















Sec 







arcCos







Sin 

5 
6







arcSin







Cos

13 
3


2 3
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.1


















arcSin

2

2


4

.2


















arcCos

3

2


6

.3






( )arcTan -1 


4

.4






( )arcTan 3


3

.5


















arcCos 

2

2

3 
4

.6














arcSin

-1

2


6

.7






( )arcSin 1


2

.8 ( )( )arcSin 2 undefined .9 ( )( )arcCos -1 
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.1 ( )( )Tan ( )arcTan 1 1 .2














Tan







arcCos

-1

2
 3 .3



















Cos









arcSin

2

2

2

2

.4


















Sin









arcTan 

3

3

-1

2
.5














arcSin







Sin 


6



6

.6














arcSin







Cos


6


3

.7














arcSin







Sin 

17 
6



6

.8














arcCos







Cos

11 
3


3

.9














arcTan







Tan

17 
6



6

.10


















Sec









arcCos

2

2
2 .11















Sec







arcSin







Cos 

3 
4

2 .12


















ArcSin









Cos









ArcSin

3

2


6
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.1
















Sec







arcTan
5

6

61

6
.2
















Csc







arcCos
4

9

9 65

65
.3
















Sin







arcCos

-1

2

3

2

.4








( )Cos ( )arcTan -6

37

37
.5


















Tan









arcCos 

3

7


46 3

3
.6
















Cot







arcSin

-5

9

2 14

5

.7


















Tan









arcSin

2

7

47 2

47
.8








( )Sin ( )arcTan 3

3

2
.9
















Cos







arcSin
1

4

15
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.1
















Sin 







arcCos
5

6







arcSin

-1

5


11 6

15

1

6
.2
















Cos 







arcCos
1

3







arcSin
5

8


39

24

5 2

12

.3
















Sin 2







arcSin
1

4

15

8
.4














cos 2







arcCos
1

3

-7

9

.5














arcTan ( )Cos 9 







Sin

9 
2

0 .6














Csc 







arcCos







Sin 

13 
6







arcSin



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















Sin




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


arcTan 

3
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2
.3
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
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







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







arcCos
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


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
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
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

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
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

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
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

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

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

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
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

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
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

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
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
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

Sin 
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
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













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





Cos 


3


3

.9














arcTan







Tan

13 
6


6

.10
















Csc







arcCos

-1

2

2 3

3
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

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









Csc







arcSin







Cos

7 
3

2 .12














ArcSin







Cos







ArcSin

-1

2


3
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

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

Sin







arcTan
1

7

2

10
.2
















Sin







arcCos
2

7

3 5

7
.3






( )Cos ( )arcTan  3
1

2

.4














Cot







arcSin

-1

6
 35 .5
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












Tan









arcCos

3

5
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













Csc







arcTan

-3

7

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3

.7


















Cos









arcSin 

2

5

23

5
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















Tan







arcSin
5

8

5 39
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.9














Sec







arcCos

-5

6

-6
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
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
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



Sin 







arcCos
1

5







arcSin
1

5
1 .2

















Cos 







arcCos
1

3







arcSin

-1

2

3

6

2

3

.3
















Sin 2







arcSin
2

5
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.4

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









cos 2







arcCos
1

2

-1

2

.5














arcTan 







Cos

7 
2







Sin

7 
2



4

.6














Cot 







arcCos







Sin

17 
6







arcSin







Cos

4 
3
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 TrigonometryExercise5 Answers for No.645118
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.1


















arcTan

3

3


6

.2






( )arcTan -1 


4

.3


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









arcSin
1

2


6
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













arcSin

-1

2


6

.5


















arcCos

3

2


6

.6


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

( )arcSin 1


2

.7






( )arcCos 0


2
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

















arcCos 

2

2

3 
4

.9 ( )( )arcSin -7 undefined
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3
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
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

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

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

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1

2

3

2
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


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












Cos




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


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3

2

1

2
.5


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









arcTan







Tan


4


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
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





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

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
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

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
6
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3
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
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











arcSin







Sin 

5 
6



6

.8














arcCos







Cos
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3

2 
3

.9
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









arcTan







Tan 
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
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
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
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
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
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

4 2 14

27

5

27
.2
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Sin









arcCos

2

7

47

7
.9
















Csc







arcCos
3

8

8 55

55

   































M
a
t
h
@
M
U
T

, ,  Ans4

























.1
















Sin 







arcCos
5

9







arcSin
3

8


14 55

36

5

24
.2
















Cos 







arcCos
3

8







arcSin

-5

8


3 39

64

5 55

64

.3
















Sin 2







arcSin
5

7

20 6

49
.4














cos 2







arcSin
1

2

1

2

.5














arcTan ( )Cos 2 







Sin 

9 
2

0 .6
















Csc 







arcCos







Sin

17 
6







arcSin







Cos 


6

2 3

3

   































M
a
t
h
@
M
U
T

, ,  Ans5 2  1 2    














M
U
T

, ,  Ans6 1 2 2    














M
U
T

X [Page = 0026] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6400305-00053XX
 TrigonometryExercise5 Answers for No.645120
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 TrigonometryExercise5 Answers for No.645121
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 TrigonometryExercise5 Answers for No.645122
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 TrigonometryExercise5 Answers for No.645124
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

Tan







arcSin

-4

7

4 33

33
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

















Cot









arcSin 

3

4


13 3

3
.9














Sec







arcCos
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7

-7
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.1
















Sin 







arcCos
2

3







arcSin
5

9


2 5 14

27

10

27
.2
















Cos 







arcCos
4

7







arcSin

-1

2


2 3

7

33

14

.3
















Sin 2







arcSin
3

4

3 7

8
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












cos 2



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

arcCos
3

7
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49

.5














arcTan ( )Cos 5 







Sin

13 
2
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
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











Csc 







arcCos







Sin 

17 
6







arcSin







Cos

5 
3
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.1






( )arcCos 0


2

.2


















arcCos

3

2


6

.3 ( )( )arcSin 2 undefined

.4


















arcTan

3

3


6

.5






( )arcTan -1 


4

.6


















arcSin 

2

2


4

.7














arcCos

-1

2

2 
3
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













arcSin
1

2


6

.9






( )arcSin -1 


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

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
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





cos







arcCos

-1

2

-1

2
.2


















Sin









arcTan 

3

3

-1

2
.3






( )Cos ( )arcTan  3
1

2

.4


















Tan









arcSin

3

2
3 .5















arcSin







Sin


4


4

.6














arcSin







Cos


4


4
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
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











arcSin







Sin 

11 
6


6

.8














arcCos







Cos

4 
3

2 
3

.9














arcTan







Tan

7 
6


6

.10


















Sec









arcSin

2

2
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












Sec







arcSin







Cos 

5 
6
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

















ArcCos









Sin









ArcCos 

2

2


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.1


















Tan









arcCos

5

6

31 5

5
.2
















Cos







arcTan
1

6

6 37

37
.3
















Sin







arcTan

-6

5

6 61

61

.4
















Cos







arcSin
1

2

3

2
.5














Sin







arcCos
3

5

4

5
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
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














Sec









arcTan 

3

5

2 7

5
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















Tan







arcSin

-4

9

4 65

65
.8
















Csc







arcCos

-5

6

6 11

11
.9


















Cot









arcSin 

2

3


7 2
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.1














Sin 







arcCos
1

6







arcSin
1

6
1 .2

















Cos 







arcCos
5

6







arcSin

-3

8


5 55

48

11

16

.3
















Sin 2







arcSin
4

9

8 65

81
.4














cos 2







arcSin
5

6

-7

18

.5














arcTan ( )Cos 10 







Sin 

13 
2

0 .6
















Sec 







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
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
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Tan 

11 
6


6

.10


















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
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
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
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ArcCos
1

2


6

   











































:)

:(




























































M
a
t
h
@
M
U
T
:)

:(

, ,  Ans3

























.1


















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 TrigonometryExercise5 Answers for No.645128
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.3









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
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 TrigonometryExercise5 Answers for No.645130
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
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
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
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
arcSin

-5

7

-7

5
.9
















Cos







arcSin
1

4

15

4

   





























M
a
t
h
@
M
U
T

, ,  Ans4

























.1
















Sin 







arcCos
2

5







arcSin
4

7


21 33

35

8

35
.2
















Cos 







arcCos
1

2







arcSin

-4

7


2 3

7

33

14

.3














Sin 2







arcSin
3

5

24

25
.4














cos 2







arcCos
4

7

-17

49

.5






( )arcTan ( )Cos 3  ( )Sin 4  


4

.6














Cot 







arcCos







Sin

5 
6







arcSin







Cos

10 
3

3

   





























M
a
t
h
@
M
U
T

, ,  Ans5 2  1 2    
















M
U
T

, ,  Ans6 1 2 2    














M
U
T

XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
> 


